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Motivation

e s quark constituents of N*

many excited states of nucleon were observed, some of them
can not be fitted into the three-valence-quark model , they may
contain sS components, such as N*(1535) — KA.

* penta -quark baryon state

It is expected that penta-quark have a narrow width and decay
preferentially into the ¢N;

* pp enhancement X(1860)

a near-threshold enhancement in the pp mass spectrum was
observed. However , such enhancement was not observed in
other channels , such as J/{y—=ppw, what about J/Y—=pp¢ ?



Data Sample

e BOSS version: BOSS664;
* 225M + 1087M J/U data sample;

e 225M + 200M + 800M J/¢ inclusive MC
sample;

* 100K J/U—=ppd, p—=K*K signal MC sample,
and 100K other Exclusive MC samples;



Event Selection
» Good Charged tracks

Vertex cut: |[Rxy | <1 cm, |Rz|<10cm;
|cos0|<0.93;
Ngood =3||4;

> PID(dE/dX and TOF)
for p: Prob(p)>Prob(K) and Prob(p)>Prob(m);
for K: Prob(K)>Prob(p) and Prob(K)>Prob(m);

np=np =1 @ np=np =1 & nKp=1 & nKm=0
nkp=1 || nkm=1 @ @ np=np =1 & nKp=1 & nkm=1
nkp+nkm <=2 (3 np=np =1 & nKp=0 & nkm=1

» 1CFitting by missing one K

Miss Kp ; p p Km 1C fitting

h _

Miss Km ; p p Kp 1C fitting

—
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1CFitting x% and M(K*K")
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Incl

usive topology

N:17393
No. decay chain final states iTopo nEvt nTot
0—>J/ — pop, ¢ — K K+ Jiv—pK K p 0 7722 7722
1 Ji—pK-K™p Jjb —pK K~ p 1 3676 11398
2 J/— ﬁpf;] f;] — K-K+ Jjb —=pK+K-p 5 1493 12891
3 J/ob — ppal, al — KK+ Ji — pK K~ § 4 802 13693
1 Jib— pK*tA, Kt - 7K+, A — a7 p Jj— pK* a7z p 7 626 14319
5 Jiv— AK* " p, A= prt, K*~ — K =" Jjb — prta'K—p 12 586 14905
6 Jjp — ECK-p, £*° = Aq® A — prt Jj — pnta®K—p 9 427 15332
T T S YR AT TR S o, AT Y St T T T [T S pn e KT Y 14 246 15578
S W ATTE R AT s Bt el A pK g | 18 230 15817
0 Jjp — ATK+E0, A+ — gn’, 20 - qA, A— 7 p I/of — ypK+a%r—p 20 218 16035
10 J/— EOK-A+, B0 — Ay, A+ — 2%, A — prt Jjf — yprt 0K —p 23 192 16227
11 J—-EKWE"L, & -, Z" 7\, A—-=p Jjb— pK* a7z~ p | 26 98 16325
12 J/p—=E"K- ¥+, 2 - A%, 7 — 7%, A — prt Ji — prtaz"K—p | 21 84 16400
13 JWw—E*K A ZF s Ant, A—»ap, A— prt Jjfp —prtata-K—p| 6 75 16484
14 I —YKp Y —pr® K*— K7t Jip — prta'K-p 10 68 16552
15 Ji - AK*Z ", A—prt,. E- =7 A, A—=71p Ji = pKrata—a—p | 30 64 16616
16 Jip = pK*Y+, K* = a7 K+, ¥+ — 7'p Jip — pK+a'7—p 32 45 16661
(1T T/ = pa(i2ip. fo(1270) = K K+ J/ —ph K p || 36 45 16706
18 Jib—ATK A At o’ A7 o Jit — oK+ 775 27 43 16749

N

~xinctot™

AAAANAS

Signal:

17393 (truth level)
7722 (44.4%)

Inreduceable: 6045 (34.7%)

A A AN I I I PP PPN

main include A (A) (3141 18.0%)

signal MC eff.: 29.3%
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Signal: 2604
Inred.: 2421
Redu.: 2191
signal eff.: 10.1%

\

(7216, 41.6%)

nKp=1& nkm=1 =

nKp=0 & nkm=1
(17393)

__ nGood=3

(10177, 58.5%) veto A

2014/3/3

_nGood=4 = Inred.: 534

np=np=nKp=nKm=1
~ (3751,52%)

Signal: 748

Redu.: 2183
signal eff.: 2.6%

— np=nﬁ=|1K=1,(non-p,
(3465, 47% )

—npi=1: 2813—>

Signal: 1856
Inred.: 1887
Redu.: 8
signal eff.: 7.5%

—

Veto:lm(A)-1.1157|>0.01
K)=1

New

2168

Signal: 450 signal eff.: 1.9%
Inred.: 313

Redu.: 2050

Signal: 709
Inred.: 509

’| Redu.: 950

signal eff.: 2.5%

—Other: 652—

Signal: 298 signal eff.: 0.7%
Inred.: 221

Redu.: 133

np=np=nK=1 ——

Signal: 5118 signal eff.:19.1%
Inred.: 3624

JsrefBedu.: 1435




reconstruct A/A (no matter nGood=3 or 4)

* In order to improve efficiency, except selected p,p, K, treat
left all tracks (include Bad tracks) as m;
* p 1 perform second vertex fitting to reconstruct A/A;

* For np=np=nKp=nKm=1, also reconstruct A, signal eff.
loss is 0.3%;

g —— 17— o~ F —T - T T 1 T [T
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9 1000 . Z  700E 0= 0411
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. 600 ce = BARDZ U =
2 800 . = ; - mass = 1.115512 +0.000031
a Nentries=10224 ] % 500 - nbkg = 1559+ 55 -
Z ook ] = - nsig = 1952+ 58 ]
= - = 400 y width = 0.001815 + 0.006879
=] 7] = .
> - - -
i 200 E
200 - - C
C ] 100 |
0 [ A-"";I'J[ W J ” A il B et i
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— 5 —
M(A/A)/GeV/e M(A/A)/GeV/c?
Veto A:)m(A)-1.1157|>0.01

eff.: 62%
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after veto A/A

decay chain final states iTopo nEvt nTot

ﬂ T/ — pop, & — KK Jig —pEk K p 0 7106 7406
1 T — pK—K+p T — pK+YK—p 1 3543 10049
2 Ffd — ppfa, _ﬂ; L KTK* T — pK+tK—p 5 1433 12382
3 Ty — ppall, afl — K—K* Jip — pKYK—p 1 772 13154
1 Ji — pE*FA, K™ 4 ax%K+ A o p T — pK+ac—p 7 307 13461
5 Ji — AR p, A — pr, K* — K—a" e 18 272 13733
G Jiy — KA BT — oar, ATT — wp T — prta"K—p 13 245 13975
7 Jif — A=~ K+EY, A~ Lpr—, Et 2% T — pK+atx—p 17 230 14217
5 Jlp — K —p, B S ARY A — T T — prt " K~ p 0 Xz 14419
0 Jif — TOK—A+ T . A~y AT o2V A — oprt T — aprta i | 21 104 14523
10 Jfyfp — A+K+¥0, A+ a0 Y0 L aA A —a—p T — ypK+ate—p 25 01 14624
11 Jjf — T K*p, ©— — pa¥, K* — K—=+ i — prtaO K —p 10 68 14692
12 gl = E- K= B — e, ZY — 7A, A —ap T — pKT a7z —p | 24 63 14755
13 digh ==K A =T - Ax™, A —7"p A—pr™ iy —prT T KN p | 6 %] 14805
14 Jjp — pK*EY, K* o a- K*, &t . a% T — pK+a%x—p 31 15 14853
15 J/y — pf2(12701p, f2(1270) — K~ K+ Jjp — pKYK—p 34 A4 14897
16  Jjp — DPK-TF, 20 L Az, Bt 2%, A — pxt T — prtasCK—p | 23 12 14939
17 gl 4 AKTE", A —prt, & w7 A, A— a7 p Jip — pK s " w"p | 20 A 149709
15 gl = 2K —p B o n gt BT — S — prt K~ p B as 15017
19 Jfy — pallp, af — K- K+ T — pK+YK—p 19 20 15046
20 Figp — ATKTA, A —pa", A —x"p Jip — pK 7% p 27 22 15068
21 Jjy — g K s q9Kt, 29 o q A A —ap | — pE et 22 21 15089
22 dip — AK~AT, A —prt, AT — 7% djp — prt ' K—p 41 2() 15100
23 dih — AR "7 AT, A —pr™, ATV — w7 p i — prT T Ko p | 37 19 15128
24 Jfif — TR Y0 L An, K Koa%, A prt | Jfp — o aprtaKop | 14 16 15144
25 digh — ¥ RK "~ p, BT — Ax™, A —pr™ Jiah — prT T T Ko p | b6 14 15158
26 digh — et KT8, B~ — 7~ A, A — 7 p iy — pRKfata—w—p | 2 12 15170
27 digp —m pr—w T HKTA, A —ap Jip — pRKFata—w—p | B 12 15182
25 digh - A7TTFTHKTA OATT o, A —wp Jiah - pRK s s x " p | G0 11 15193
20 dip — pr KTEY, Y o A A— 7 p djp — ypKTar P T3 11 15201

N: 15434

Signal: 7406 (48.0%) signal eff.: 28.3 %

Inred.: 5821 (37.7%) »

Redu.: 2207 (14.3%)




M(K*K")

Previous Page, now
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M(pK") and M(pK*)
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M(pK) and M(pK*)
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M(pK") and M(pK*)
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A(1520) 2D Sideband

M((PK")/GeV/c?
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Events / (0.1)

Updated

J/Yy—>A(1520)A(1520) angle distribution

dl’ : L2
dcos @ X (l_I_ﬂ('{']h Q}
~  300F
C - "
250: a 250 F
200 £ 200f
C it -
150 @ 150F
100 100F
s0f = s0F =
%0 s 00 o5 1o %0 s 00 05 1o
cosB (A(1520)) cosO (A(1520))

Bkg has been subtracted according to A(1520)A(1520)
2D-sideband.

J/P—>A(1520)A(1520) MC has generated .



Events/(0.1)

Comparison of signal and sideband region

of A(1520)

200 :— —e— A(1520) Signal Region
100 :_ ——— A(1520) Sideband Region _:
0 - PR S R [ T S ST T N T SR SHNT T NN T S SN
-1.0 -0.5 0.0 0.5 1.0
cosO (A(1520))

Events/(0.1)

400 |

300 +

200

100

—#— A{1520) Signal Region

—— A{1520) Sideband Region

0.0

0.5

1.0

cosO (A(1520))

A(1520)A(1520) 2D-sideband estimation is effective !



M(pK") vs M(pK*) 2D Fitting

3

To remove affect from ppag(980) , we require M(K*K)>1.04GeV/c? in 2D
Fitting;
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Events / { 0.0025 )

M(pK")-M(pK*) 2D Flttlng

—As20R520) N(A(1405)K(1405)) = 406 = 57
8001 pKA(1520) N(A(1405)K(1520)) = 536 + 69
PK"A(1520) N{A(1520)K(1520)) = 4678 + 123
700 "‘“_:‘{“5’3["“5’ N(R(1405)A(1520)) = 506 + 70
600 ;@ ,\[[1?;5513 N(PK"A(1405)) = 1277 2 119
BK.G N(PK"A(1520)) = 1552 + 132
spoL|  Al140sR(1520) N(B.K.G) = 2211+ 206
~- A{1405)A(1520) N(pK X(1405)) = 1225 + 124
400 N{pK R(1520)) = 1534 + 137

300
200

100

-------
& 3

65

H(pK )GeVic?

Branch Fraction

Br(J/y—A(1520)A(1520) )

Br(J/Y—pKA(1520))

Br(J/U—=pK*tA(1520) )

Br(J/U—A(1405)A(1405))

Br(J/Y—pKA(1405))xBr(A(1405)->pK*)

Br(J/U—pK*A(1405))Br(A(1405)->pK)

P > A(1405)A(1520) + c.c.

Events / ( 0.0025
-.4
=
=

500
400
300
200

100

USTC-IHEP

N(A(1405)R(1405)) = 406 = 57
N(A(1405)A(1520)) = 536 = 69
N(A(1520)R(1520)) = 4678 + 123
N(A(1405)A(1520)) = 506 = 70
N(PK*A(1405)) = 1277 + 119
N(pK*A(1520)) = 1552 + 132
N(B.K.G) = 2211+ 206

N(pK X(1405)) = 1225 + 124
N(pK X(1520)) = 1534 + 137

160 65
M(pK")/GeVic?
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M(K*K") Fitting

— 1. Signal

Signal MC Shape

pp KK*

1. J/y—pPKK* PHSP
TS PP f(1370) S ppR K T
4., ]/l|1—> pﬁ f2(1270) — pﬁK-K+ Consider in

5. J/y— pp a3(1320)> ppK'K*  system error.

6. J/U—A(1520)A(1520) - pp KK*

7. J/Y—-pKA(1520) — ppK'K+

8. J/Y—pK*A(1520) = ppKK"™  mc Shape,
9. J/y—A(1405)A(1405) — ppKK"  Fixed acc.
10. J/Y—>pK'A(1405) - ppKK™  2Dfitting
11. J/Y—pK*+A(1405) — ppK'K*
12.)/y—>A(1405)A(1520) - ppK'K*
13.J/y—>A(1405)A(1520) - ppK'K*

—| 3. Reducable B.K.G.  Polynomial, Float

2014/3/3

USTC-IHEP

20



M(K*K") Fitting

2014/3/3
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=== ppali{9R0)

s ALSZOVARI15200
= pK AT 1520)
== pK AT 1405)
< ACL405 R 15200

= R 1405 1A 1520)
=== Reduc. bke

ppk K PHSP

K A(1520)
A{1405)R(1405)

K A(1405)

N(Reduc. bkg) = 1892 + 196,
N(ppKK PHSP) = 12 + 133
N(ppa00(980)) = 2614 + 150
N(signal) = 10299 + 136
c0=-0.135641+ 0.00013

¢l =-1.047221+ 0.00012

c2 = 0.18274 + 0.00014

1.15

1.05 L0 e
M(K'K)/GeV/c?
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Next step work
* Fitting result not very well in[0.99,1.1], try to
generate | /Y- ppag(980) by Flatte fromula;

* How to get 2D-pdf correctly?
* Weighting and Branch fraction;



Backup



M(pK)-M(BK*) 2D Fitting (1)

)
)

005x0.005
] [
= an
7.7

005x0.005
] [
= an
7.7

Vetod ¢

Don’t consider : J/Yy—A(1405)A(1520)+c.c.
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IVI(pK')-IVI(ﬁK*) 2D Fitting (|) FCN=-209380

E‘W“_ T A(1520)5(1520) N(A(1405)R(1405)) = 123.7 + 2.1 }‘..'*mon_— N(A(1405)A(1405)) = 123.7 + 2.1
S T | pkE(1520) ] N(A(1520)A(1520)) = 4820.8 + 5.0 S B N(A(1520)A(1520)) = 4820.8 + 5.0
= || PK'R(1520) N(PK'A(1405)) = 2499.8 + 4.0 P L N(pK*A(1405)) = 2499.8 + 4.0
< goo 14054 (1405) ' N(PK*A(1520)) = 3143.2+ 4.8 = - N(PK*A(1520)) = 3143.2+ 4.8
.E L "'E:;”%‘t:i?}?] N(B.K.G)= 0.0+ 1.7 .E 800— N(B.K.G)= 0.0+1.7
K . -
g B B.K.G N(pK X(1405)) = 2474.5 + 4.0 g B N(pK'A(1405)) = 2474.5+ 4.0
a Bm)'_ N(pK A(1520)) = 3247.0 + 4.9 a L N(pK'A(1520)) = 3247.0+ 4.9
L cl=1+141 600— cl= 1+ 141
- d1 = -0.55308 + 0.0034 u d1 = -0.55308 + 0.0034
400 400
200 200—
I v T O T N ,
========'=. =de ) :a‘l: el R e Tt e o I-t“:‘ s N i st et - u Lannle o aprag.. T I e e
{: ks 1.50 1.55 1.60 55 {: ) 155 1.60 85
M(pK)/GeVic? M(pK")/GeVic?

Br(J/Y—A(1520)A(1520) )

Br(J/Y—pKA(1520) )

Br(J/Y—pK+A(1520) )

Br(J/Y—A(1405)A(1405))

Br(J/Y—pKA(1405))XBr(A(1405)->pK*)
Br()/y—pK+A(1405))Br(A(1405)>pK) ”



M(K*K") Fitting (I)

— 1. Signal Signal MC Shape ®Gauss

1. J/y—pP KK+ PHSP
2. J/W—pp ag(980) » ppKK* __MC Shape _, Float.
3. J/U—- pp f,(1370) - ppK'K*  consider in
4. J/Y— pp ,(1270) - ppK'K*  system error.
5. J/W— pp a3(1320)- ppKK*

N 2'_ 6. J/U—>A(1520)A(1520) — pp KK+

pp KK™ |7 jjy=pkaci520) - ppKKr

8. J/y—pK*A(1520) - ppKK+ aac'ze'
9. J/—>A(1405)A(1405) — ppKK+ - Fel =
10. J/Yy—pKA(1405) — ppK'K*
11. J/U—>pK*A(1405) - ppKK*

— 3. Reducable B.K.G.  polynomial, Float

2014/3/3
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M(K+K') Fitting (|) FCN=-420982

H 1 I I 1 1 I ‘II I I 1 I I 1 I 1 1
T g 2000 4 Signal MC N{Reduc. bkg)= 1+ 14
\O ek ptigp || N(PPKK PHSP) = 1413
g 1800 =+ A(1520/R(1520) | | N(ppa00(980)) = 1443 + 132
"ot pKA(1520) N(signal) = 9977 + 133
(= 1600 gk'ﬁ{lizm
- B AC405)R(1405) o0 = -0.50145% 0.0055
~ 1400 ] - pK A(1405) cl=-06+14
— ) PR A ];f? c2 = 0.8499 + 0.0062
- 1200 K ' mean = -0.0003877 + 0.000059]
Nt ol sigma = -0.000097 £+ 0.00057
= 1000 o
=P ] P
Z 80 P
60 N
0 Y
\*-Mhu 'uh.;u f_*_"_;”"””-"f”' :::':_".l_‘:'.".‘.'llf-r.:'-:'lil'Ff‘[".'|}11"‘:1"‘Ei'l'.I"".":'lp_'ﬁ'--.-r1'--.1-'-.-. a
. 1.05 1.10 1.15

M(K'K)/GeV/c?
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M(pK)-M(pK*) 2D Fitting (I1)

2 2
q25{}— qzsu,_:.,.
0200 13200
o o
= =
8 ' 8
c c
o o
> >
@ @

0 0
1.65 1.65
dff. 2 ”f{'

vic?

Vetod ¢

consider : J/WU—A(1405)A(1520)+c.c.
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[—]
f=3
=

800

Events / ( 0.0025)

600

400

200

M(pK’)-M(pK*) 2D Fitting (1)

--- A[1520)A{1520
-- pK'R(1520)

PK*A(1520)

--- A{1405)R{1405
-- pKA(1405)

TK'A(1405)
B.K.G

--- A[1405)R{1520
--- K(1405)A{1520

N(B.K.G) = 0.0+ 1.2

cl = 0.406 =+ 0.050
d1 = -0.5357 £ 0.061

N(A(1405)A(1405)) = 148 = 50
N(A(1405)R(1520)) = 261+ 67
N(A(1520)A(1520)) = 4997 + 131
N(R(1405)A(1520)) = 225 + 69
N(PK'A(1405)) = 2369 + 103
N(PK’A(1520)) = 2923 + 131

N(pK R(1405)) = 2391+ 105
N(pK &(1520)) = 2996 + 134

.
o e L0

1.55

.60

Br(J/W—A(1520)A(1520) )

Br(J/Y—pKA(1520))

Br(J/W—pK*+A(1520) )

Br(J/Y—>A(1405)A(1405))

Br(J/Y—pKA(1405))XBr(A(1405)->pK*)
Br(J/Y—pK*+A(1405))Br(A(1405)->pK’)

2014 —>A(1405)A(1520)+c.c.

M(pK )/GeVic?

=y
[—]
b=
=

o0
=
o

Events / { 0.0025 )

600

400

200

USTC-IHEP

FCN=-209396

N(A(1405)R(1405)) = 148 + 50
N(A(1405)R(1520)) = 261+ 67
N(A(1520)R(1520)) = 4997 + 131
N(X(1405)A(1520)) = 225 + 69
N(PK'A(1405)) = 2369 + 103
N(PKA(1520)) = 2923 + 131
N(B.K.G) = 0.0+ 1.2

N(pK A(1405)) = 2391+ 105
N(pK A(1520)) = 2996 + 134
c1= 0.406 + 0.050

d1 = -0.5357 + 0.061

160 1,65

1.55 . ,
M(PK)/GeVic?
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M(K*K") Fitting (I1)

— 1. Signal

Signal MC Shape @Gauss

pp KK*

1. J/U—-pp K K+ PHSP
3. J/W- pp f,(1370) » ppKK* |
4. J/W- pp f,(1270) - ppKK* Consider in

5. J/U— pp ad(1320)— ppK K+ system error.

6. J/U—A(1520)A(1520) - pp KK*

7. J/Y—-pKA(1520) — ppK'K+

8. J/Y—pK*A(1520) = ppKK"™  mc Shape,
9. J/y—A(1405)A(1405) — ppKK"  Fixed acc.
10. J/Y—>pK'A(1405) - ppKK™  2Dfitting
11. J/Y—pK*+A(1405) — ppK'K+
12.)/y—>A(1405)A(1520) - ppK'K*
13.)/y—>A(1405)A(1520) - ppK'K*

—| 3. Reducable B.K.G.  Polynomial, Float
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USTC-IHEP

30



M(K*K") Fitting (1)

2014/3/3

Events / ( 0.00165 )

FCN=-420966

---= Signal MC
== ppal{9sd)

ppkK PHSP

- A{]_‘izﬂﬁ{]fﬂﬂ}
- pK A(1520)

TKA(1520)
A(1405)A(1405)

= pK A(1405)

TKA(1405)

- £{14usﬁ{152m
= A1405)A(1520)
-- Reduc. bkg

N(Reduc. bkg) = 0 £ 25
N(ppKK PHSP) = 0 + 11
N(ppaOO(980)) = 1295 £ 131
N(signal) = 9936 + 133

c0=-0.6%15
cl=-05+14
c2= 1215

mean = -0.0003934 % 0.000060 |
sigma = -0.000032 + 0.00054

USTC-IHEP
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M(pK)-M(BK*) 2D Fitting (I11)

Vetod ¢
3 3
8250 8250
= =
15200 - 15200
S S
s e
= =
@ i @
= ] >
L 1 w
1.65 . 1.65
Yy = n, )
@Bpes 1.55 1.65 By 1.55 % 1.65
KyeeV’e

consider : J/WU—A(1405)A(1520)+c.c.
J/W— pp ag(980)
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I\/I(pK')-IVI(ﬁK*) 2D Fitting (|||) FCN=-209440

Nﬁuon = A(1520)1(1520) N(A(1405)R(1405)) = 329 + 57 Nﬁuon N(A(1405)X(1405)) = 329 = 57
=] o g:;‘;t::gzzgl] N{A(1405)A(1520)) = 485+ 73 =3 N{A(1405)A(1520)) = 485+ 73
a m|---- .I:xH:lDS]KHdDS] N{A(1520)A{1520)) = 5268 + 133 = N(A(1520)A(1520)) = 5268 + 133
= -~ pK(1405) N(X(1405)A(1520)) = 480 + 77 = N(X(1405)A(1520)) = 480 + 77
2 800 PK Al1405) N(PK*A(1405)) = 1783 + 115 2 800 N(PK*A(1405)) = 1783 + 115
§ | |- aaosyTisa0) N(PK’'A(1520)) = 1977 + 163 s | N(PK’'A(1520)) = 1977 + 163
w [ K(gaos)a (1520) N(¢a’(980)) = 21812 236 w L N(¢a’(980)) = 2181+ 236
00| %20 N(B.K.G)= 0.0+ 1.3 00— N(B.K.G)= 0.0+ 1.3
B N(pK X(1405)) = 1759 + 120 - N(pK A(1405)) = 1759 + 120
B N(pK'X(1520)) = 2048 + 165 B N(pK'X(1520)) = 2048 + 165
400 c1= 0.414 £ 0.053 400 i c1= 0.414 £ 0.053
i d1=-0.804 + 0.22 i b 4 | d1=-0.804:0.22
200 : 200

e Y W LR S T S b
1.60 65 f . 1.60 65

1.55 . . .
M(pK)/GeVic? M(pK")/GeVic?
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M(K*K") Fitting (111)

Events / ( 0.00165 )

2014/3/3

2000
1800
1600
1400
1200
1000
800
600
400
200
0

STATUS=NOT POSDEF

i'j*l LI

1.0

0

-==-- Signal MC
=== ppal{ o980}
ppKK PHSP
Sem ACLS200AT 15200
=== pK A 1520)
FEA(L520)
A1405)A1 1405)
=== pK AT 1405)
PR A(1405)
= AL L405) AT 152400
=== R(1405)A{1520)
--- Reduc. bkg

-
‘_u::-::{.r."..'-p‘g..;.. ...‘.‘:.-ul.-

Pl L
=gt 0

T
A g i it s

1.05

USTC-IHEP

N(Reduc. bkg)= 0 £ 119
N(ppKK PHSP) = 0.00 £ 0.35
N(signal) = 9885 £ 13
c0=-0.3536+0.018
cl=-05+12

c2= 0.720x0.018
c3=-0.0478 £ 0.018

mean = -0.00028515 = 0.0000040
sigma = -0.0000069 + 0.00001

2l b b

e
M(K'K)/GeV/¢?
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M(K*K") Fitting (111)

Events / (0.00165)

2014/3/3

2000

1800
1600
1400
1200
1000
800
600
400
200

N(pp a(980)) is float

STATUS=NOT POSDEF

== Signal MC
== ppal(9E0)

kK PHSP

== A(1520)A(1520)
== pKA(1520)

K AL1520)
A 1405 YA 1405)

== pK A 1405)

PR A(1405)

== A(1405)%(1520)
== A(1405)A(1520)
== Reduc. ble

USTC-IHEP

N(Reduc. bkg) = 0.00274 + 0.00043
N(ppKK PHSP) = 905.760 + 0.093
N(ppa00(980)) = 2366.140 + 0.074
N(signal) = 10243.849 +0.069
c0=-0.432+0.12

¢l =-0.52460+ 0.0054

2= 0.68+0.12

¢3 = -0.08282 + 0.0054

mean = -0.0003466677 £ 0.00000043 1
sigma = -0.00044 1884 + 0.00000031
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